* dObrO dobro.io

NMACHMNOPT

MHCTPYKLUA NO CBOPKE
OASYS Lka¢d apxmBHbIA Manbin
LLIA-80x2-04

CaHkT-lMeTepbypr



1. KomnnekT nocTtaBKkm
1.1. OASYS Kopnyc 2 OH W80 (1 wr.)

Ne HanmeHoBaHune Kon-Bo N3o06paxeHne

A |BokoBuHa 2 \

B |Kpbiwka 2 \

XY

C |3apHdada cTeHKa 1
D |Crsxka MINIFIX | 14 @ F lWkanT6x30 | 18 2
BonT pona M
E | craian MINIFIX | 14 G |Sarmyukal0 | 8 N
1.2. OASYS Lokonb W 80 (1 wr.)
Ne HanmeHoBaHue Kon-Bo N306paxxeHune
H |Pama 1
]
Onopa
| |perynupyemas 4 Camopes
M8x20 J 14,2x90 6
(noTaiiHom)
F | WkanT 6x30 2
1.3. OASYS Ton W 80 (1 wrT.)
Ne HanmeHoBaHune Kon-Bo N3o6paxkeHne

K |Kpbiwka 1

L |[BuHT M8x30 4




1.4. OASYS Awuk 0,5 OH W80 (2 wT.)

Ne HavnmeHoBaHune Kon-Bo N3o6paxkeHne
M | Awmk 1
O |KpoHLwTelH nesbii 1
Q |KpoHwTelnH npasbii 1
S |®acag 1 o o
U |KomnnekT HanpaBnsowmx 1
V |Odemndep 4 &
W |BuHT M6x12 7 Camopes 4x16
X (noTaitHo) 8 &
1.5. OASYS Awuk 1 OH W80 (1 wr.)
Ne HanmeHoBaHue Kon-Bo MN3o6paxeHune
N |[Awmnk 1
P |KpoHwTelH nesbin 1
R |KpoHLwTeliH npaBbii 1
T |®acapg 1 . .
U |KomMnnekT HanpaBnsoLwmx 1
V | Oemndep 4 %
W |BUHT M6x12 7 Camopes 4x16
X (noTaiHomn) 8 ®
1.6. OASYS Pyuka 320 (3 wr.)
Ne HanmeHoBaHune Kon-Bo N3o0bpaxkeHne
Y |Pyuka 320 1
Z |BuHT M4x25 3 7




2. Cxema cb6opku

1
Est —

OTBépTKa
KpecToBast




WeCTUrpaHHbIN



6.1
Z # x3
wW @ X7

\V} o x4

6.2
Z @/ X3

Wx7
V ¢ x4




6.3
X x 8

Ha OOVH AWNK

6.4

6.5




